EARAROBEEIERT — 2 N— IBISH —F

201856H28H (K) 6EIAFH4H

SMM 8 A3 HbLAMXAFH UL -8 H5R2E50H L

‘ [R1%] & ‘ [REBE] — | & (A) 12000 B

[A&E£] 17 :2,100,000  ~ 23 :840,000 37 :525,000 §

4 7% :315,000 53 :210,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S o2 | mEF 1:14.8 1-1 39.2 — 1 471 | RMR (KH)
1 2 horx 54.10 (=) +3) ;Wﬁﬁ
LANXZATNG B FT— [/ Eaes]
. — #1138 :16. — . - HFEEE (KH)
2 N RAYIZZ1= e 54.0 1(176)2 e 01 ° ?_1:) glﬁ;‘%ﬁ
Lix42avk—5— B:3x/tLF—F e EE 45035
= - B2 | EEAEisE 1:16.8 5-5 40.3| — 6 480 | ERER (KH)
3 6|77V —1— 54.0 3) (+5) Eﬁﬁﬁ?ﬂz
L2 kAT E—> B:IAITaUTyY R 245
FHfE— : - — SeHFRREA (/)\HE)
alsl5 | BTN R i) 6e M e B -y
L:€r/a704 B:7O0-X>L-> Rl &
. . 4 2 | FHEEE 1:17.1 2-2 4.3 — 4 463 | LTEE (KFH)
] 4 YovFx—Fz> 54.0 " (3/4) (+5) 7234
X:Avaizgr—X BV NFtHA~ YY1 FHE
N g S EHEC 7. = . — RITR (KFH)
6l111|AMAZTHT-X e 50 1;3 6% 05 s ‘g; BAE X
L:ZbhACTYE—> BAXEHT—X AREG2—T7—LI
® 1—F—@EBIERL
13—7-—
23=5"=
Ja=7= 2,4,3,5,6,1
43—4— |2,4,3,5(1,6)
[ /N
B 2 230M 714K 2-3 390M B E 2-3 1,320 JEE 2-3-6 4,410/
B B 2 1504 2-6 870M B H 2=3 1,650M 3B 2-3-6 14,170H
3 420M 3-6 1,450H

ABICOVWTRDTEEERROODE. TR LIV,




